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General Instructions:- 
 

1-   ijh{kkFkhZ ;Fkk laHko vius “kCnksa esa gh mÙkj nsaA 
 

Candidates are required to give their answer in their own words as far as practicable. 
 

2-   dqy 32 iz”u iwNs x, gSaA lHkh iz”u vfuok;Z gSaA 
 

There are thirty-two questions in all. All questions are compulsory. 
 

3-   iz”u la[;k 1 ls 10 oLrqfu’B gSA izR;sd iz”u ,d uacj dk gSA 
 

Questions Sr. No. 01 to 10 are objectives type questions of 1 mark each. 
 

4-   iz”u la[;k 11 ls 16 rd vfr y?kq mÙkjh; gSA izR;sd iz”u nks uacj dk gSA ftu dk mÙkj 30 

“kCnksa ls vf/kd ugha gksuk pkfg,A 
 

Questions from Sr. No. 11 to 16 are very short answer type questions of 2 

marks each. These questions should not be exceed thirty words each. 
 

5-   iz”u la[;k 17 ls 27 rd y?kq mÙkjh; iz”u gS izR;sd iz”u rhu uacj dk gSA ftu dk mÙkj 50 ls 

60 “kCnksa esa nsaA 

Questions from Sr. No. 17 to 27 are short answer type questions of 3 marks 

each. These questions should not exceed 50 to 60 words each. 
 

6-   iz”u la[;k 28 ls 31 nh?kZ mÙkjh; gSaA gj iz”u N% uacj dk gS ftu dk mÙkj 120 ls 130 “kCnksa 

rd nhft,A 
 

Questions No. 28 to 31 are long answer type questions of 6 marks each. Answer 

of these questions should not exceed 120 to 130 words each. 

7. iz”u la[;k 32¼,½ ekufp= dk gS tksfd 3 vadksa dk gS ftls Hkwxksy ls fy;k x;k gS vkSj iz'u u0 ¼32½ ch   

 3 vadksa dk gS vkSj bls bfrgkl ls fy;k x;k gSA Hkjs gq, uD”ks dks viuh mÙkj iqfLrdk ds chp cka/ksaA  

   

Questions No. 32 (A) is Map question of 3 marks from geography and 

question No. 32(B) is also of 3 marks from History. Attach the filled up maps 

inside your answer book. 

 
 

8-   iz”uksa ds mÙkj nsrs le; tks iz”u&la[;k iz”u&i= ij n”kkZbZ xbZ gS] mÙkj iqfLrdk ij ogh iz”u& 

la[;k fy[kuk vfuok;Z gSA 
 

While answering your questions, you must indicate on your answer book the 

same question no. 

 

9-   mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksfM+,A 
 

Donot leave any blank pages in your answer sheet between your answers. 
 

(1) 



iz-1 egkRek xka/kh th us jkWyV ,DV ds f[kykQ dkSu lk vkanksyu pyk;k \     1 

 Which movement did Gandhiji launch against the Rowlatt Act ?  

iz-2 igyh fizfVax izSl dk vfo’dkj fdlus fd;k \     1 

 Who invented the first Printing Press?  

iz-3 Hkkjr dk igyk fgUnqLrkuh v[kckj dkSu&lk Fkk \     1 

 Name the first Indian news paper publication?  

iz-4 dkyh e`nk esa eq[;rk dkSu&lh Qly mxkbZ tkrh gS \     1 

 Which chief crop is grown in black soil?  

iz-5 fo”o esa dqy ty dk fdruk izfr”kr Hkkx yo.kh; ty gS\     1 

 What percentage of the total water available on earth is salty?  

iz-6 jch dh Qlysa Hkkjr esa fdl _rq esa mxkbZ tkrh gSa \     1 

 When are Rabi crops grown in India?  

iz-7 d`f’k] Ms;jh rFkk eRL; fdlds mnkgj.k gSa \     1 

 Agriculture, Dairy and Fishery are examples of which Economic Sector?  

iz-8 WTO dk iwjk uke crk,a\      1 

 What is the full form of WTO?  

iz-9 gekjs ns”k esa dqy fdrus jkT; gS a\      1 

 How many states are there in India?  

iz-10 bafM;u uS”kuy dkaxzsl dh LFkkiuk fdl o’kZ esa dh xbZ \      1 

 When was Indian National Congress established?  

iz-11 oS”ohdj.k ls D;k vfHkizk; gS \ blds dksbZ nks ykHk crk,aA      2 

 Define Globalization? Give any two advantages?  

iz-12 ljdkj }kjk fdlkuksa ds fgr ds fy, fd, x, laLFkkxr lq/kkj dk;ZØeksa dh lwph cuk,aA      2 

 Enlist the various institutional reform programmes introduced by the government in the 

 interest of farmers.  

iz-13 eku yhft, fd ,d d{kk esa pkj Nk=ksa dk vkSlr Hkkj 50 fdyksxzke gSA vxj rhu Nk=ksa dk Hkkj Øe”k% 

 40] 70 vkSj 30 fdyks gS rks pkSFks Nk= dk Hkkj fdruk gksxk\     2 
 

Assume there are four students in class. The average weight of these students are 50 

Kg. If the weight of three students is 40, 70, 30 respectively what is the weight of the 

 

(2) 



 fourth students.  

iz-14 iapk;rh jkT; O;oLFkk ds rhu Lrj dkSu&2 ls gSa\                      2 

 What are the three level of Panchyati Raj System?  

iz-15 jk’Vªh; lsok ;kstuk (NSS)  dk izrhd fpUg fdl ij vk/kkfjr gSA ;g gesa D;k 

 lans”k nsrk gS\                      2 
 

What is the symbol of (NSS) National Service Scheme based on. What 

massage does it gives to us? 
 

iz-16 vki dh ikB”kkyk esa vkink izca/ku desVh dk xBu gqvk gS crk,a fd cpko desVh ds D;k&2 dÙkZO; 

 gSaA       2 

 A Disaster Management Committee has been set up in your school. State what are the 

 duties of this committee.  

iz-17 og dkSu ls dkj.k Fks ftu dks ysdj xk¡/kh th us vlg;ksx vkanksyu okfil ysus dk QSlyk fy;kA  3 

 Why did Gandhiji decide to withdraw the Non-Co-operation movement?  

iz-18 vki fo;ruke ds ,d Ldwy esa v/;;ujr gSa] vki ds vf/kdrj lgikBh Ldwy NksM+ x, gS vki Hkh Ldwy 

 NksM+us dh lksp jgs gS vki vius bl fu.kZ; ds dkj.k crk,aA         3 
 

You are a student of Vietnam. Most of your classmate have left the school and 

you too are thinking to do the same. What are the reasons to take this decision? 
 

iz-19 lkfgR; dh vk/kqfud fo/kk miU;kl gS fQj Hkh Hkkjrh; yksxkas ds mu ls nwj jgus ds D;k dkj.k Fksa\   3 

Despite Novels being the modern form of liberation, why did the Indian stay 

away for them? 
 

iz-20   fuEu fp= rkfydk dks ns[krs gq, fuEufyf[kr iz”uksa ds mÙkj nhft,A 
 

Observe the following diagram and answer the question that follow. 

 
Percentage 

 

 
                     Symbols 
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  izkFkfed 
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(3) 



(i) o’kZ 1950 esa ldy ?kjsyw mRikn (GDP) {ks= esa izkFkfed {ks= dh fgLlsnkjh fdrus % Fkh\  

 What was the share of the primary sector in GDP in the year 1950?  

(ii) o’kZ 2000 esa rr̀h; {ks= dh fgLlsnkjh vkSj izkFkfed {ks= dh fgLlsnkjh esa fdrus % dk varj vk;kA  

 By what percentage did the share of tertiary sector and primary sector change in the 

 year 2000?   3 

iz-21 vki lksyu ftys ds igkM+h {ks= ds jgus okys gSa vkSj gj o’kZ o’kkZ _rq esa Hkw vijnu cgqr ek=k esa gksrk 

 gS \ vijnu dh jksdFkke ds fy, vki D;k mik; djsaxs \   3 

 You are resident of hilly area of Solan district. Every year a lot of soil erosion takes place 

 in the rainy season. What steps you will take to stop the erosion?  

iz-22 i;kZoj.k dh fxjkoV ds dqN ,sls mnkgj.kksa dh lwph cuk,a tks vki us vius vkl&ikl ns[ksa gksA    3 

 List a few example of environment degradation that you may have observed around you. 

iz-23 ^ty gS rks thou gS** o’kZ 2030 rd ty dh vR;kf/kd deh dks ns[krs gq, blds laj{k.k ds fy, vius 

 lq>ko nhft,A  
 

“Water is Life”. Keeping in view the scarcity we are going to face by the year 

2030, what step you will take to conserve it? 
 

iz-24 gekjs ns”k esa lekftd foHkktu fdl rjg fodkl dks izHkkfor djrk gS\     3 

 How does the social division influence/affect development in our country?  

iz-25 lekt lsoh vUuk gtkjs }kjk lapkfyr tu yksdiky vkUnksyu ls Hkkjrh; yksd ra= ij D;k izHkko 

 iM+kA       3 

 What are the affects of the Jan Lok Pal movements started by the social activist Anna 

 Hazare on Indian democracy.  

iz-26 Hkwe.Myh; m’ehdj.k (Global warming) lqukeh ls Hkh Hk;adj vkink gS] blds fuokj.k ds fy, gesa 

 D;k djus gksaxs\        3 

 Global Warming is more dangerous than Tsunami. What steps should we take to stop 

 global warming.  

iz-27 Hkkjr esa ifjogu nq?kZVuk,a vf/kd gksrh gS] vki bls fdl izdkj dh vkink le>rs gks] bu vkinkvksa 

 dks dSls jksdk tk ldrk gSA         3 
 

A lot of accident (Transport) take place in India. It is what type of disaster you 

think? How will you stop them? 
 

iz-28    mu dkj.kksa dh foospuk dhft, ftuls vBkjoha lnh esa lqjr canjxkg us viuk egRo [kks fn;kA  6 
 

Explain why the port of Surat decline its importance by the end of the 
eighteenth century. 

 
 

(4) 



iz-29 flfDde jkT; esa tSfod d`f’k (Organic Agriculture) dks fodflr fd;k x;k gSA fgekpy izns”k esa 

 bls fodflr djus ds fy, vius lq>ko fyf[k,A      6 

 Organic farming had been developed in Sikkim, suggest ways to develop it in Himachal 

 Pradesh.  

iz-30 vki ,d tkx:d miHkksDrk gksus ds ukrs cktkj ls lkeku [kjhnrs le; fdu&2 ckrksa dk /;ku  

 j[kksxsA                                                             6  

 Being an aware consumer what main things will you keep in mind while buying things in 

 the market?  

iz-31 D;k Hkkjr esa yksdlHkk o fo/ku lHkk ds pquko dks ,d lkFk djok;k tk ldrk gSA rks blds ykHk o 

   gkfu;k crk,aA 6 
 

Can Lok Sabha and Vidhan Sabha elections be conducted simultaneously in 

India? If so, what are its merits and demerits. 
 

iz-32   ladsrksa dk iz;ksx djrs gq, fuEufyf[kr dks Hkkjr@fo”o ds ekufp= esa Hkfj,A 
 

( A)   Hkkjr ds ekufp= esa  

(1)  pk; mRiknd nks jkT; 

 

(2) fgUnqvksa dh ifo= unh 
 

(3) jk’Vªifr Hkou 

 

(A) In India’s Map 
 (i) Tea producing two state 
 

(ii) Holy River of the Hindus 
 

(iii) Rahstrapati Bhawan 
 

(B)  fo”o ds ekufp= esa 
 

        (1)  fØdsV [ksy ds tUenkrk ns”k dk uke 
 

(2) Hkkjr ds nf{k.k esa fLFkr iM+kslh ns”k dk uke 
 

(3) ml ns”k dk uke js[kkafdr djsa tgka lokZf/kd HkwdEi vkrs gSaA 

 

(B) In World’s Map 
 (i) Country where cricket originated 
 

(ii) India’s neighbouring country in the South. 
 

(iii) Country where maximum earthquakes take place. 
 
 
 
 

(5)



 


